
Given Thespringactingon athin homogenousbar ofweight 15lb is
unstretchedwhen0 0

Ed Determine the angularspeedof the bar at 0 00 if the bar
just reaches 0 900before it comes to rest
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Given This system shown is releasedfrom rest when 0 0 A
constantforce F acts horizontallyat pin B for all time
Both links are homogeneous and have a mass of m The
slider block at B has a mass of A Thesystem moves in
a verticalplane

Find Determine the speed of B at angle 0
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Kinematics using vector equation l
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The final equations
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